(2) HAFEH

EE

—E
A0 iz J=| R R iR
15} 5 =t
o asmub) e EPUY | e |PRH TE = TE = TE =
FREKX 52,865 | 1 |—&H 1,786
BABALE 3 TH 1,076 |3 TH 1,655 [iRE1TH 1,491
(1) iz 390,744 9 PR 135349 4 leeoTeE 6,722
§ E@3TH 6,591 |[E1&1TH 4,309 |FERELT H 1,717
B 202530 ] 4 |emieTHE 1,870
- &H27TH 4,220 [FE3TH 4,615 |[BEA3TH 2,932
R 182692 4 lemiTH 2,593
- 101730 | 4 |[EE3TE 3,033 |#W=Ei2 TH 2,942 |[R2Ak4TH 6,798
2) | webs 878746 | 19 2ALTH 5,314
- v 701| 6 |FELIE 4,110 [#/VI1E] 3,312 |BERE1TE 5,620
' RTH 4,172 |Ea1TH 3,485 |1b#iiE 1 T B 7,29
- HESTH 3311 | DWR3TH 4,345 [&AE 2 T8 3,624
Bk BLEB| 5 |wmRis2TE 2,958 |[FR1TH 3,557
R wiE2 TH 2,185 |82 TH 2,428 [t tH1TH 1,188
fskix 166225| 4 IeioTE 3,255
- BTG TH 8,407 [AIE1TH 3,906 |REA8TH 3,491
FIX 170462 | 4 [omgese >33
(3) T 983,033 22 II=TE 1,724 |FEIZ=TH 1,534 |BBETE 2,626
X 29123 | 5 BRATH 2,835 | NEHTE 2,932
HWhE2TH 1,829 [AB5TH 1,713 [XB3TH 5,553
THRR 417,223 | 9 [2W3TE 7813 |[F4TH 4,240 152 TH 3,085
FE1TH 1,719 |[#6 TH 2,849
SH=T8 2,167 | FEA—THE 2,274
FE=TH 3,360 |PRAE—TH 2,158
avies 566,019 | 13 [#WEATE — 1,864 [FIIIZTH 2,538
AR —TH 3,232 |[iRAMIATH 3,044 [BP=TH 2,144
SEE—T 8 4,235
mE1TH 2,083 |BH8TH 2,142 [®KkE1TH 1,828
4 EBithis 1,504, 4 1 .
(4) | weubE 504889 | 33 | g 379790 | 8 [mE@4TE 2,949 |EfE2 TE 5,114 B 6 TH 2,593
%% 4TH 3,929 |R&MSTH 3,869
AMNITLITE 5423 |BIM4TH 1,506 |w@f4 TH 6,173
[ R 1TH 3,830 |®NE1TH 4,116 |Fm@E4 TH 4,075
AR SS9.080 | 12 Ve iz TE 3,065 |[BE6 T 4,000 |@Bm7 TE 3,525
X ER] 3,121 |AfEIsET 5 TH 4,085 [hFEFE7 TH 5,372
Eil FEE4TH 3,483 |[BE&3TH 3,059 [#rE1TH 3,295
Bk BOUT| S g TH 4,810 A2 1TH 2,856
FE1TH 4,552 [®=37TH 3,299 %5378 4,271
A6 TH 1,033 [#E3TH 4,220 [BE2TH 2,608
= He1TH 2,738 |FH2TH 5,546 R4 TH 3,498
R 767,561 | 17 Rs TE 5,107 |#H3 TH 2,308 [AR3 TH 5,053
JtEW2TH 2,142 |AFE3TH 4,753 |=iR3TH 4,641
E5288TH 2,335 |[fRE1TH 3,903
o] 4,112 |RPFHRTH 4,728 [nL—TH 2,085
(5) FEphi, 2,384,116 53 R B3| 5 xaraTE 4,927 |$iA—TH 5,466 |E==TH 4,684
EMLTH 4,928 |FIfEEIL3TH 4,143 |FHESTH 2,501
’ sm2TH 5,221 |FMERITH 4,730 |=H4TE 4,565
R 854921 1 ISTE 4,627 |EcE3T A 2,993 |@HFME3TH 2,650
BMFm4TE 4,275 |5)114TH 2,406
EXh3TH 3,151 |B@3TH 5,759 [BAR1TH 4,783
A1 TH 3,795 [fBEI3 TH 4,152 |[XRFEE3TH 3,238
BEX 613,580 | 14 |[@IL3TH 2,439 |[BHA5TH 2,938 |METE3 T H 4,203
FHE3TH 4,338 |[EmHa1TR 1,615 [BBI®R2 TH 1,518
B2 TH 2,500 [RAR1TH 4,764
K51 TH 2,567 [FAH4TH 3,528 [ TAB1TH 3,304
X 334911 8 |RRII1ITH 4,291 |F#X1TH 3,389 |\#I5TH 12,020
BAH4TH 3,302 |F#1TE 3,923
ARE_TH 7,241 |IWE—TH 5479 |FAF=TH 2,733
p— ) ; g 3 3
(6) | PENDEL | 951,088 | 21 AEAATE 4,320 [mmmE—TH 3,479
KEX 616,177 | 13 5,928 |BENT E 4,702
8,195 [PHATH 2,324 | BB T H 5,879
3,783
IF671H 1,779 |&%4TH 4,162 |5 T 2 1,939
= 289,500 | 7 [®+H%S5TH 2,228 iFR3TH 8,004 [FrE2TH 2,451
#e3TH 5,614
(7) Jeanbis 760,845 17 HESTH] 4,49 |FIRTF_TH 1,818 |=E_TH 1,117
SREER] 5,402 |5@iR—T B 2,981 |f@AATE 5,318
g 713451 10 fGsR-Ta 4213 7518 3,843 [BBTENTE 3,767
SEKEY 6,487
Hiet 113,410 2 [#ET1TH 2,712 |85 TE 1,296
PASTH 45664 | 1 [®RE—TH 2,154
(8) ESEENI, 287,083 7 HEZLH 67,374 | 2 2,778 |== 4,935
BoHET 13,851 1 1,011
feEa 46,784 | 1 13,220
2,984 |BEET 1 TH 1,930 | REH] 6,533
1,447 |iFEE] 8,844 [tE2TH 1,332
NEFH 470,305 10 2547 |RA5H 4,477 |BAH 3419
7,305
(9) | wZmsmis | 1,107,188 | 24 FIFESTH 2,540 | EERE] 8,410 [ABFE1TH 2,111
Bt 356,874 | 8 |m#i/TH 1,515 |/)\LIE] 18,530 [@siR6 TH 1,043
hET1TH 2,939 |Faniti6 TH 1,230
B 154,710 | 3 |@&& 4,415 | XFEEH 11,271 [&& 7,917
ST 125299 | 3 [EE 1,181 (e 1 TH 4,113 @& 6TH 1,723
2l 153,123 | 3 [wEILTE 5,374 |)IIB]6 T B 1,929 1813 TE 1,565
- BEN 93,817 | 2 |meET2TH 1,59 |[iBBH 2 TE 1,746
EpFh 104,284 | 3 |FExEI—TH 1,770 |fazs EMT A 1,301 [EEI=TH 1,763
S~ ) 3% , , , .
;l; (10) | ItZEEmEphE | 544,675 12 e ca010] 1 |&iTE 188
P S=AAT 70,906 | 2 [#E3TH 1,245 | HEB2TH 1,783
" AT 58535 | 1 |AET1TH 1,073
- hos 1,981 |EEEI3TH 1,533 [fE)\&HmEI 3 TH 3,145
A 1591531 4 i ameTE 2,468
AL 126,474 | 3 |[weem3TH 3,413 |RAT1TH 5,268 O 1 TH 2,804
(11) | dezritepsE | 615,537 14 ST 62,369 | 1 |#E=TH 1,001
RAEKT 97,670 | 2 |FELTH 1,803 [ABI—TH 1,385
- A4 TH 2,088 |@+HT 1 TH 3,248 VN EIL4 TH 1,026
FEERRT 169871 | 4 [ oa e 5704
REET 123259 | 3 |EwEAE2TH 2,754 |18 1 TH 2,302 [BAE3TE 1,001
=P 156,613 | 3 [#4=TH 2,271 [#)II—TE 1,572 [RASF—TH 1,724
Bx54TH 2,405 |[RKR5TH 2,817 |AEH2TH 1,877
R 213,986 | 5 & g 2
(12)| ommmes | 862,831 | 19 g HHLTH 3,553 BRI 2 TH 1,346
" - 197118 | 4 |[LBEI2TH 2,805 |2 TH 7,449 [EoOLrE1TH 5,041
! FEAFTH4TH 1,295
INEFh 101,621 | 2 |®EI3TH 4,059 |AH3TH 2,017
[EDi 70,234 | 2 |MRAENTE 3,609 |RE/I—TH 1,971
it 11,270,775 | 250

_84_




